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1] 9:00 ~ 9:15 F—LER | 0|vs| 1 ZCLUCE 5 |w7nro-x »3IH3FC | 2 |vs| O 7R 6 [AGC

2| 9:20 ~ 9:35 MIFZL7E—X| 1 |vs| O AGC 2 |ZCLUCE F—L=FER | 0|vs| O o33 FC | 4 |[7XR

3| 9:40 ~ 9:55 ZCLUCE 1 |vs| 1 MITL7E—X| 1 |[F—L%S TR 0 |vs| 1 AGC 3 |v=awarc
4 [10:00 ~ 10:15 F—LFER | 1 |vs| 1 7R 5 [rwFr7a—x ZCLUCE 1 vs| O JO93FC | 6 |AGC
5110:30 ~ 10:45 F—LEE |4 |vs| 0 rFL7a—x| 4 [7X HIAHIFC | 3 | vs| 1 AGC 2 |ZCLUCE
6 [ 10:50 ~ 11:05 ZCLUCE 0 |vs| 1 AGC 1 |F—0=8 F7X 0 |vs| 2 rMFLFO—X| 3 |[HFwdrc
7 [11:10 ~ 11:25 F—LFER | 4 |vs| 0 AGC 2 |ZCLUCE HIOIFC | 2 [ vs| 1 rFLra—x| 4 |7X

8 | 11:30 ~ 11:45 ZCLUCE 2 |vs| 1 7R 7 |B=
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1 — 0 1 — ol2 — 111 — 1]l0 — 1
MM SFC A X O O O 3 1 1 10 7 3 4|1
0o — ol]lo — 1 2 — o2 — 1|3 — 1
7R A X X X X 0o 1 4 1 6
1 — 1|1 — 2|lo0 — 2 0o — 210 — 1
rJFLFO—Z X A X o O 2 1 2 7 5 71 -2|4
0 — 4|1 — 1|1 — 2|2 — o 1 — 0
AGC X o X o X o/ 0| 3 6|3 8|-5]|s
0 — 4|1 — o1 — 3|1 — oflo — 1




